Linearity: £{af + bg} = a%{f} + b%{g}. _
_ Translation ins: £{e®f(1)}(s) = F(s — a), where F = £{f}.

. Translation in £: .EE{g(r)u(r —a)}(s)= e"‘.‘f{’g(r +a)}(s), where u(t — a) is the step
function that equals 1 for ¢ > a and 0 for 1 < a. If f(r) is continuous and £(0) = 0, then

L~ Ye > F(s)}r) = f(t — a)ulr — a) ,
where f = £~'{F}. :
Convolution Property: £{f* g} = 2{f}¥{g}, where f* g denotes the convolu-
tion function

(F*)(1) = L'f(: = Bl

@ L) = ) - " (0) - s (0) — - — £o(0) .
2{rfO}s) = (-1SE(s) . where F=2{s} .

Ire'"f(r)dr
g{f}(-f) = —ol"_e_—ﬂ-

Variation of Parameters: y(f) = v, ()y;(2) + va(t)y,(0).

TABLE 7.1 BRIEF TABLE OF LAPLACE TRANSFORMS where v} and v}, are determined by the equations |
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